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Solution to Study 0058 
 
 
 
Please state true or false to the statements below: 

1. God accepts worship within the context of a right relationship with Him. 
TRUE 

2. The fundamental problem with the old covenant was that there were too many 
rules to obey. FALSE 

3. Another fundamental problem with the old covenant was the difficulty in 
understanding the Law. FALSE 

4. A new covenant became necessary to enable man live apart from the Law 
which was the problem with the first covenant. FALSE 

5. The old covenant did not frown at divorce and remarriage, since many of those 
God showered praises on were polygamous. FALSE 

6. John the Baptist’s message was one of fire and brimstone, so the people did not 
repent. FALSE 

7. When the Messiah came on the scene, He did not ask the people to repent, He 
just told them to receive salvation. FALSE 

8. The failure of the Old Covenant Era worshipper was his inability to bring all 
the sacrifices required by God. FALSE 

 


